Agriculture %V
Compound Interest Worksheet Name )
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Directions; Using the Compound Interest formula, and the Simplc4ntcrcst formula, compare
the compounded year-cnd balance with simple interest year-end balance. Show work below.
nt
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Simple Interest: [ - Prl Compounded Interest: A = P[l + E]
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8. Bill purchased 350 acres of good farmland at $3,450 per acre. Tle paid 25% down and was able
to obtain a loan at 3.75% APR compounded annually for 5 years. How much was the down
payment? How much was the principal? What was the interest paid after 15 years?

Down payment @ 3@[ 975‘ 336‘52) * 350 = @ /,«907:,500

Principal ﬁQOS &7&5 /FQD7’SOO * L5 < @30697‘5—“
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9. Bob replaced a metal roof on this equipment building. The mctal rooling and materials cost
$5,648 and labor cost $2,755. He took out an equity loan to cover the cost at 2.99% for 6 months.
What was the principal? What was the interest? What was the amount repaid?

Principal &E %HOB 5&1{% V5SS = 84‘03

Interest %’QZ".’?O . A:p(,F _rﬂ\;)l‘)t |
Amountrepaid£g6&7.70 /g_: %03)(\[ + '0?:}551

P:- 2403 A= #2507,70

re 02 F527,.70 — U3 = ¥24,70
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[0. Sue has $2500 to invest in ¢ CD. First Bank offers a 2-year CI) that earns 2.35% compounded
monthly. Citizens Bank offers a 2-year CD caraing 3.5% compounded annuaily. Which is the
Petter investment for Sue (0 make?
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ertc a function that models the deer popul atton How many deer will there be in 5 years?
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12. The salary for a new employee is $31. 525. The cmnlmuc‘ reccives a %% raise cach vear. Whal
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is the salary after 5 years? \j a_ b
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3. A business has revenue of $45.000 and projects a 12% increase in revenue in future vears.
Wikal 15 lile projecied ievenue 5 years from now? LD
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14. A biologist wants to determine how long it takes a given culturc to grow bactcria. [ the
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I5. It the annual rate of inflation averages 4% over the next 10 years, the approximale cost C of
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